N = 0 &F AFE 8 H A
20168 &= 20 A LB H AES A
EX: AEsSA
M HEDFME)|EE S FOHFHOE D
@ XNFFEs =8 (9 ® =)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol &F o4 %@ﬁ HRE2
HESA W 4,968,173 4,033,063 935,110
= 31,208
Xl 110,000
= 69,541
Al 4,757,424
HESME)|IBESZY FOUHHEOCR 4,939,973 4,002,463 937,510
= 31,208
Xl 110,000
& 69,541
Al 4,729,224
XNEAHEG =& 241,553 523,003 A 281,450
X AHBB AT 204,603 124,673 79,930
201 et 9| 118,603 118,173 430
01 AP 2t 2] H| 14,360 13,930 430
Ot 2Y| 11,560
o &M =22l 2,217,000 2,217
0 BESA HRFX AIRES 2,143,000 2,143
o EAEX 25,000& *1008+ A 2,500
o Ty EUHR 23 2,700,000 2,700
0 EAD| ¥ Z2IH EH ALZS
2,000,000 2,000
[ PE=2=3:] 2,800
o ANNYGAHES AIHAIYE =&
7,000 x4 80 2,240
o FLUABOI2AIE 24 7,000 x4 x20 560
02 2% 4| 104,243 104,243 0
OZ2Z2222AH A 15,555,000 15,555
OANE &Y S XY 88,688
o ITelZe E&8 |SAE% 60,000,000 14! 60,000
o ZHAl QIHUYAIAHE SXE%
28,688,000 x 14! 28,688
202 o4l 5,500 6,000 A 500
01 2L HI 5,500 6,000 A 500
OXNEAHBFIAIY S2FA 5,500,000& 5,500
207 I & 80,000 0 80,000
02 & A EHH| 80,000 0 80,000
OMHIAEBXEAIAE A E H&kHE I}
80,000,000 x1A! 80,000
405 XHAHFEIEHI 500 500 0
02 = A2 500 500 0
OEEg2dE T 47 20,000& #2534 500
oIYl & 3,950 304,520 A 300,570
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2N
X ZH -
L= B

el

Al
dMEo|gtetEn FoUMFES T
ot 29

A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
OBt =8| 1,000
o @230 88 2=
250 *1,00000 x404 & 1,000
O=&l 1,470
o AE30tS 43 =& 7,0008+3H+70L 1,470
02 2324l 50,000 30,000 20,000
OA & ZEHl S Xl 50,000
o IISEEME BREH & d&FH SXNEx
2,500,000& 401 Ot = 10,000
o 2302 EHOIX |RAE=x
5,000,000& =401 Ot = 20,000
o BE3S0E =& NF2E B
10,000,000& 271 Ot = 20,000
03 A2 Z Hl 11,500 11,500 0
OX=2st0te & OIHE(EA,4) 900,000 900
OZEs0E sEXNE0tE 22 1,800,000 1,800
OZES0E ZAHEBH 29 3,000,000& 3,000
OZE30IS Festa &N RES
1,200,000 =424 0t = 4,800
OXNBHE=H F230t2 HANEEH A 20
500,000& #204 & A 1,000
202 o4dl 2,420 2,564 A 144
01 = LH o4 1l 2,420 2,564 A 144
OZ=2sits g2=2 2,420,000 2,420
301 et a3z 7,750 7,750 0
09 &AL HIZB &S 6,750 6,750 0
OZE230E XNEX nEEAR 24
,750,000& 3,750
OZ 2302 Festa &4X 24
100,000 32 =10 3,000
MIIEE4d3 1,000 1,000 0
OZEEs0E8 FUWE A
20,0003 *2A| 2k x5 *53| 1,000
405 TtabF S 1,000 21,000 A 20,000
02 TN 1,000 1,000 0
OZEs0E R WSEWMH 10,000& <502 23] 1,000
L8308 24 (BEX) 66,096 67,296 A 1,200
= 18,288
< 18,288
Al 29,520
307 gl2tol & 66,096 67,296 A 1,200
= 18,288
< 18,288
Al 29,520
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2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OZ2Z222L A 25,000,000 25,000
202 04d| 6,000 6,000 0
01 2L HI 6,000 6,000 0
OIESH 24 6,000,000 6,000
308 AXIEHSOIA 4,884 0 4,884
10 B2 SH st A A S A 4,884 0 4,884
SEDOIAIAE 2E 4,884,000 4,884
A2 L MAUEA 89 109,105 93,000 16, 105
201 LBt 9H]| 69,400 92,000 A 22,600
01 AP 22| H| 3,000 3,000 0
OB =2H| 2,000
o MM YL 2ULICtAIAE AtESLH DE (W
SUMH & ADE) 2,000,000& 2,000
[ PE=2=d] 1,000
0 2ULIetAIAE 22| & g2 =&
1,000, 0008 1,000
02 E2=2=24%H| 66,400 89,000 A 22,600
OAE &Y S XY 66,400,000 66,400
202 044 1,000 1,000 0
01 2Ll 1,000 1,000 0
O=2UWAY 1,000,000 1,000
308 XX SHHSOIH 18,705 0 18,705
10 BI| 2 SH st A A e A 18,705 0 18,705
O2UctAIAE X122l fE 18,705,000 18,705
405 XHAHFI S HI 20,000 0 20,000
01 AL 2 E F S| 20,000 0 20,000
OFUE HFHAIAEH 2 20,000,000 20,000
S H XA 70,097 42,032 28,065
& 15,253
Al 54,844
S H XA 35,591 36,591 A 1,000
101 21 214| 24,691 24,691 0
04 JIZtHIZ22XNSES 24,691 24,691 0
OASEH &L ZAHEZS SHXZA o182
30,863, 100 x80% 24,691
201 LBt | 8,900 9,900 A 1,000
01 AP 22| d| 8,900 9,900 A 1,000
OBt 2H| 8,000
o EHAHE COMZ 7,000,000 x14! 7,000
0 EHXZAMNRE 88 ¢ 1,000,000 1,000
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0
e
10
H1
0

HESAD
HESME)IBED Foy
S X A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0=t 900
o AP M ¥ ZHHE Ab =&
900,000& 900
202 044l 2,000 2,000 0
01 SLHOYI 2,000 2,000 0
OSHZA S2FE 2,000,000 2,000
= ASIEAH(ER) 34,506 5,441 29,065
< 15,253
Al 19,253
101 @124l 24,058 5,441 18,617
= 12,029
Al 12,029
04 JIZHHZ2Z 2RSS E S+ 24,058 5,441 18,617
OE = ASI =AM 24,058,000 24,058
< 12,029
Al 12,029
201 Let24E] 10,448 0 10,448
= 3,224
Al 7,224
01 At 2t 2l 10,448 0 10,448
O E==EH| 10,448
o MEAMNIZA 23 10,448,000 10,448
< 3,224
Al 7,224
XL ERE =& 1,554,285 1,088,703 465,582
= 12,920
Al 1,541,365
SSIIEHAIAE 2 97,852 84,506 13,346
308 AHAIEHHSOIA 97,852 0 97,852
10 3J2s0te3 &AM 97,852 0 97,852
HPZE MLFH & 23X
97,852,000 97,852
HEFHBANLE 29 294,581 294,872 A 291
201 2Bt | 288, 181 288,270 89
01 At 22l 5,000 5,089 A89
02t =gH| 2,900
oJdlE dfF& 2,900,000& 2,900
O=&l 2,100
oJdlE gfF& 1,100, 000& 1,100
o 2JcldEdae FRFA 1,000, 000& 1,000
02 =224l 283,181 283, 181 0
O2323SLAA 6,333,000& x1201 & 75,996
OAEZEHl Sl 207,185




5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
o HEBAMBANAEY 29 167,185,000 167,185
o HEIERE PC KA 40,000,000 40,000
202 o4 | 4,400 4,602 AN 202
01 2L I 4,400 4,602 AN 202
QHFHABAIAHRAH HL2FX 4,400,000& 4,400
206 M 2 H| 2,000 2,000 0
01 X2 Hl 2,000 2,000 0
OSEHAA A XM 2! 2,000,000& 2,000
HAEAME(XHY 2 2H% 2 212,000 146,000 66,000
206 M = dl 2,000 2,000 0
01 X2 bl 2,000 2,000 0
OUHERA SKA&cE NN 2 2,000,000 2,000
401 AIEHIZL 2 0HY| 210,000 144,000 66,000
01 Al&H| 208,380 144,000 64,380
OANA, S8ES 2222 HWEKIAZSA
50,000, 000& x98.92% 49,460
ONZO-FHUASA HHHBXIIY 2EI
At 150,000,000 *99.28% 148,920
OUESMNEANSE) HEFEBEIINIY 2EZ2A
10,000,000& 10,000
03 Al&E 201 Y| 1,620 0 1,620
OANA, S8ES 2222 HWEKIAZSA
50,000,000 *1.08% 540
QOIEH~ZLETHANLRA HEFSXOIY 2EZ2
At 150,000,000 *0.72% 1,080
SHEMALAH B2 750,000 359,550 390,450
403 XX S M S K201 A 150,000 0 150,000
02 Z2I)|2SOHetX =& & A HI 150,000 0 150,000
OBFBLALY S HBHX P
150,000,000 150,000
405 XH&HF S HI 600,000 359,550 240,450
01 XAt = ZE F S HI 600,000 359,550 240,450
OAMBASS HAEH RA(ADA, SHS Y
olgpc ¥ Z2lE, WERIAFH S)
300,000,000& 300,000
O&X=AH 2 100,000,000 100,000
OHFFLNINY HLAAAAY 7
200,000,000 200,000
ATE/ANH B2 123,160 110, 160 13,000
207 30 & 123, 160 110, 160 13,000
02 & A EHH| 123,160 110, 160 13,000
OOl A gt Tz e 2l 34,160,000 34,160
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2N
X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OCERE LAZEYAH 2L 70,000,000& 70,000
02= 2 Rg2lE 208 S 7Y
30,000& *3002 9,000
OoleY Az 7Y 10,000, 000& 10,000
M =E2HH 2SAS(EX) 26,526 26,526 0
= 3,544
Al 22,982
201 Let249] 15,601 15,601 0
= 3,544
Al 12,057
01 At 22/l 15,601 15,601 0
[ DN = 15,601
o Mol=AIAE 2= 2lAZ  15,601,000& 15,601
= 3,544
Al 12,057
308 XtXIEHH SOl A 10,925 10,925 0
07 HIXNHMAR2S = 10,925 10,925 0
OMH= ALY 25 10,925,000& 10,925
HEYBAAE S DAHAME(E2X) 41,166 43,489 A2,323
= 9,376
Al 31,790
201 ¢4l 41,166 43,489 A2,323
= 9,376
Al 31,790
01 At 22l 41,166 43,489 A2,323
[ DN = 41,166
oANZ? HFFEAAE =FTH WA A
=3 41,166,000 41,166
= 9,376
Al 31,790
AFH LisAtE 9,000 11,000 A 2,000
202 044l 1,000 3,000 A2,000
01 = LH o4 1l 1,000 3,000 A 2,000
OZFH UsAHE 1,000,000 1,000
206 = Hl 8,000 8,000 0
01 T2l 8,000 8,000 0
OAME PC A2 7Y 4,000,000 4,000
OsS0HEXSY PC =3 FHE 225 7¢
4,000,000 4,000
dass das AHS 1,726,295 751,402 974,893
Jasalael 506,455 382,152 124,303
101 @124 dl 19,555 0 19,555




A 3E2SA
M HOSMEIINSED FOUMNBEOTD
Sl NS HEE ALY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 19,555 0 19,555
OREDEH 02 19,555
oJdlE=a 48,2403« 1H 247 11,916
o=xg ¥ 40 7,638,015& 7,639
201 -4 293,500 285,720 7,780
01 At 22l 18,500 17,720 780
OB ==EH| 15,000
o dasd & 3,000,000& 3,000
o MNP S 3,000& x3,000% 9,000
oEtag #H e
1,500& »2,000% 3,000
O=&tl 3,500
o J&asd 3,500,000& 3,500
02 =24l 275,000 268,000 7,000
OZ==2 A A 205,000, 000& 205,000
OAEZHI S X 70,000,000& 70,000
202 oddl 2,400 3,800 A 1,400
01 = LH 4 1l 2,400 3,800 A 1,400
OZaSH g2 2,400,000 2,400
206 M= Hl 4,000 4,000 0
01 =8l 4,000 4,000 0
OSAIIAHEY 2R 2L 2,000,000& 2,000
OLsSUAE 2,000,000& 2,000
308 XX EHH SOl A 20,000 19,632 368
07 X HH2t2E 20,000 19,632 368
OZ-A=Z2t & dE23lMd=2
20,000,000& 20,000
401 AIEHI L 20HYI 40,000 14,000 26,000
01 A& HI 40,000 10,000 30,000
OHZIS LY O XL XS A 10,000, 000& 10,000
O:-=NEI EN0 HE S HdZEHUISA
10,000, 000& 10,000
025224 0l o Z 3 A
20,000,000& 20,000
405 XHoHF S HI 127,000 55,000 72,000
01 AL EFHSE 127,000 55,000 72,000
OHEE FAX S 500,000& = 10CH 5,000
[ RS- DNR==gelgdu | 20,000,000 = 1CH 20,000
ot 22X
35,000,000 =1CH 35,000
OPEEYBA oE A4 N
) 42,000




A 3E2SA
g FEgtdE|gtas) FeddEo
thel dAaSA dAS AHS (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o HD=3EEAME X SHS ASHAL
NI &27H 2+1,100,000& +A 815,300, 000& 35,000
o BUESE S=FHl 7,000,000% = 1CH 7,000
OU2Y 26 YE&H UL
10,000, 0002 14! 10,000
OZZHE 2 AJRUIFNEX (S, 2E)
5,000,000& »2CH 10,000
OZBSH ABHAMN EFTY 7Y
5,000,000% = 1CH 5,000
SHENY ZHIILY 2= 234,840 168,750 66,090
308 XXM SO A 234,840 168,750 66,090
07 IXNSHHARE = 234,840 168,750 66,090
OS0& BHASHNY 75
76K 0F = 3,090,000 234,840
OS2 MEotM 0l Hol K& 985,000 200,500 784,500
202 O4dl 1,000 1,000 0
01 = LH 4 Hi 1,000 1,000 0
O0IS MEHMECCTV =& & & &
A 1,000,000 1,000
402 RI2HX=01 M 984,000 199,500 784,500
01 It 2 AL E X 984,000 199,500 784,500
O0IS MEHME CCTV #=
3,500,000& 26074 Ot = 910,000
OR4 OISYEAMAE 2= 74,000
o037 LHOIS(47HH) 19,250, 000& 19,250
0 37 Hs0tS(43MITH) 18,050,000 18,050
o 34 202 (17HIH) 10,250, 000& 10,250
o 34 2A0IS(71AITH) 26,450,000 26,450
Atglot& Y = 1,025,558 1,061,669 A 36,111
Xl 110,000
< 36,000
Al 879,558
SN 29 625,558 765,669 A 140,111
201 YpHe | 225,856 247,711 ~21,855
01 At 22l 12,000 12,255 A 255
OBt~ 9,000
o ZotZEH EH ¥ ARE Y
4,000,000& 4,000
o SEZMNUH HRFA 5,000,000 5,000
O= &l 3,000
o SEZM HHARFA 3,000,000 3,000
02 =24l 213,856 235,456 A 21,600
OS2 HA 87,000,000& 87,000




EX: AEsSA
HE: HESHME)INASD) FOHFHECTD
SRl AtBlotEY R (29 a8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OANE &Y S XY 126,856,000 126,856
202 04d| 3,400 4,750 A 1,350
01 2L HI 3,400 4,750 A 1,350
OEE2HEH 89 g2F&X 3,400,000 3,400
206 M EHl 3,000 3,000 0
01 =4l 3,000 3,000 0
OSS2MAEH 2XMH 2 3,000,000& 3,000
307 2iztol A 254,302 432,608 A 178,306
05 QIZ2tRE S 254,302 432,608 A 178,306
OCCTV 2 Hl 2I2HAE ALY 254,302,000& 254,302
401 Al HI L 2 0HHI 80,000 70,000 10,000
01 Al& H| 79,136 69,244 9,892
Os=X9Y 2HE CCTV & Xl 2 At
50,000, 000& *98.92% 49,460
©OCCTV 0| &L &EX ZAl
30,000,000 x98.92% 29,676
03 A2 HH| 864 756 108
Os=X Y g2EHE CCTV & Xl 2 At
50,000,000& *1.08% 540
©OCCTV O™ & AXI ZAF 30,000,000 *1.08% 324
405 XHA&HF S HI 59,000 7,600 51,400
01 XA 2 ZF S H| 59,000 7,600 51,400
oz JEAX 22 (54T8)
35,000,000& = 14! 35,000
O2HE PC ¢ 1,600,000 =15CH 24,000
o{2lo] "xole CCTV &XI(EX) 220,000 96,000 124,000
N 110,000
Al 110,000
401 AlEHIZL £ 0HY| 220,000 96,000 124,000
Xl 110,000
Al 110,000
01 Al&H| 218,416 95,136 123,280
OHS 0| CH& HXoe CCTVA X
22,000,000 *101 A x99 . 28% 218,416
N 109,208
Al 109,208
03 Al 20| 1,584 864 720
OHS 0l THA Exog CCTVA X
220,000,000 *0.72% 1,584
Xl 792
Al 792
T 2EY CCTV A XA (EX) 180,000 200,000 A 20,000
& 36,000




A 3E2SA
MY MO ME)NED] FUBFBEICS
SRl AIBIOEY RE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 144,000
401 A& HIZ 201 I 180,000 200,000 A20,000
< 36,000
Al 144,000
01 A& HI 178,704 198,560 A 19,856
O=22 Y CCTV &XAHY
180,000, 000& *99.28% 178,704
< 35,741
Al 142,963
03 Al 2 THHI 1,296 1,440 A 144
O=2 2™ CCTV & X ALY
180,000, 000& *0.72% 1,296
< 259
Al 1,037
HH2IZH(FESAD) 28,200 30,600 A 2,400
Jl2du(d3esa ) 28,200 30,600 A 2,400
Jl2du (2284 1) 28,200 30,600 A 2,400
202 Odl 24,000 26,400 A 2,400
01 = LH 4 Hi 24,000 26,400 A 2,400
OZE=Z 0 100,000& 20 »12& 24,000
203 R =&t 4,200 4,200 0
04 FN2ELSZ=TH| 4,200 4,200 0
OCEES A 350,000& »12& 4,200




